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(cbse 201) (chse 201¢)
PRIMARY SECTOR SE (ONDARY SECTOR. TERTIARY SECTOR
° Activites Tn which, 4 go0d °Achvities n which natuval ©They don't produce any
fs produced by Qﬁp\OIHh%v produchs ave changed Pto  goods but these ackuities
natuval ¥eSoU¥(es othey foyms Hmodgh manu-  pwovide o seavice.
—~factoving.
© Also wlled agaicuture € o Also called Sndustial stehov  © Also called sesvice
velated sector. sector.

o Tt was the most fmportant  © Aftex fndustsfal vevoluhon, © Tn last few decadles fhis
sectoy since the begining-of - hi's become the mast: fmp.  has become the most fimp
homan ¢ivi [Psation. KAy sectoy.

> &+ Agiwhue, fiching daiwy, © Mk Tobo e ceam, offon  © & Teans x%a#’on,banizé
mining mineyals and oves  fnto clothes, svgarcane educadton, vel-al|
et fnfo svgay ett. ¢hop etc!

@ ® AN sectors ave linked o¥ firvconnected. Fox example coffon fxom e
(otton plant (P¥imary Sectoy) fs onverted o textile in Pndustifes
(sewndasy Sector) and veach +he mavkeb Hyough the means of

. Fzanspoytateon (TexHary sectow).

QD GROSS DOMESTIC PROPUCT = (&DP)
GDP 7s the walve of-all final bwod,s and seyvices pcodumd wHhin a CMbJ
olu"&Tn% & pavHcolay year

6DP Shows how ng ay) e(ondomy Is .

In India &DP s “wlcvlated by centyal goveyment mintstyy.
- Total GPP=gDP of Prmary+ GDP of sétondary+ GPP of-tey Huvy sthox

[>) ©
2REk0% [0 Indig

# Imporknce of TexHary Sectoy = [chee 2019)
TeyHavy sectov has emesged as the lavgest produd’n% sectoy in India becavse -
Govesnment has dQve[gg?gd hos pitals’, school, (ousts , banks, police  aymy
etc . which ave basic need of'a countyy and are past of texiiary secton.
DeveloPment tn prmasy and setendavy sectoy has led' fo development of kyHaoy

sectoy as hey are fotevdepondint. .
o Rise n fwome level of people has ncveased e demand of eating oub,
ghopping , movies fovxism  efc. which ave past of texHawy sector.
o New sewices based on nfoymaton and communfcaton Yechology Cntexget) have
bewome essentfal and imporfart - These services ave growing miﬂ’ﬂg.
lreen Revoluffon also 4ave boost fo bexHasy sector.
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= Undﬂemglo menL— Db@u:seo Emp(OYMENT s [chse 2016]
When mote e 0¥ Wovk nax than £s meedled  this stuation Ts called undar-
- employment ow d,asgu;sed Uve Plo(?men
Foy ‘extmple:,
* Iv woval aveas,ald family membes woyk in same freld.
* In Utban ayeas | thexe o many sfckshow u)lm Caw%[ullen selhn s0me thing

Fhovsand of (@l woskews in semce sedoa' whexe $h may SPEnd the voholedAg
bot eam very [itHe.

Thest foge, thewe fs oneed for gorurating  Cmploymnt in ditferent gctons.

‘mfﬂa $ 10 cvate more emp [0 ment [ dose 2020)

Govemment  can Em’ovlo{e che »Eboqm to fasmexs S they @an do fanming whth best

equmenis ond. practtee moltiple cvopping o yerain ‘ermploped Hnoughot the
eay.

o (ovesnment @n jnvest monty n taampoﬂaH’on and constyuct new yoads, this wil|
oiate emplogment foy labouzss and ‘faxi dives
0 Cjovemment @n lowte fdustries newr yosal aveas where o lavge number of-ptople can be
loyed i the Jackories.
0 Q S2)h ldrm 1geoJro shool , T more echodl awe (onstyycted, toackes ave appointed.
Ib Com asea Hn 20 ]ahh jobs.
Y tondism as q sector is |m})xoved it (an genexate ot $han 35 jakh jobs.

¥ National Ruval Employment Guasantee Act (NREGH)

o NREGA was fommulated “in 20057, [ades on 18 name chan3<d to Mahatma Gandht
Mahonaﬂ fysa| - Empoyment quamnhee At (MGNREER.

© Undst NREGA, all Hose T need of work awe gudsanteed 100 days of emplayment in
yeax by jovern ment .

o If +ha goveynment {dils 4o P?Owde emplo(ymfnt' i) Oﬁwe unemplo#mEn’o allowavies Fo +he

eop le.
o E’c fs_now in 625 dishsicts and is also vefened as ¢ighty o wovk.
Osgenised_and Unovgantsed Secto¥F  [cpse s01¢]

LUSN N N

¥ 07 amaed Sector -

o 0anised sector entesprises ave ﬁeg?stezfed by govesnment and have to follow
all” +he yules.

° Vlovkess have job secority (can't be fised without pwoper seasons) and get
P@ns:on wben they wedrye.

fiees have {R/ od woyking ondiHons and safe enwonmen’c

© Hem )e ? e fixed ombunt of work houve and I they wovk ovestime they
e extyal fox it .
(ql,et benefﬂs hté’. Pfud leawe, paywmmt dumng holidays, pyovidimt funel ek
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° g7 Govenment jobs, Schools, panks ek,

w Unma‘amsed Sector :
o Unoy mse Sector enterpsises are not zregy?‘stwed with the 3ovemmen# and
wles” and Uegulqﬁom are violabed b 3
> Woykevs don't have fob secvyity (cdn be fised anyHme) and do not 4ot
nston when they “getive.
o People Somegimes have 40 work T a!anjezf@us novk envivonment w0 Hhout
an Sa ¢ oquipment. ) i
o Hete prople dovt have fixed work hovs and no%nzf extya s pald for overtime.
o No poid lfam holidays ov leave due o sickness.
How 10 p\wo’vec{— fne_Unorganise 15ed SectOVR
o In Ruval Avens - SmaH and meohum fovmexs (an be g Eyoﬁed by H’mel and
adequqfe delfvery of seeds , cheap loans  stovage: fadiliHes andl good
Wee of e harvest.
0 In Uvbay Aveas — Labours and small ndvsties can e Sopported with 3ood labooy
laws and favousable polictes fox small frdusties.
o Backwavd lommunites- A lo¥ge vo. of Eeop\e fyom backwayd communites wovkin
unovganised sector. They can “be pootected 5f they don't face any disciminaton
based on thefr taste or background

Sectovs on the bas)s wpexs

N

PUBLIC SECTOR PRI\IATe seCTOK

0 AH asse{s and responsibility of sewice o Al] assets and. ves onabnh | sewvice
s ouned government. ' awned by an fndfvidual ma ou}>
0 Tﬁwgf +o sevve people. o Thefr goal s +omake prof it and ea
Govexnment schools, hos[mklls ° Sa* felfance, Qoogle apple , tata dt

post offfce , army elc.

th Basic facfltites [Pke water supply o Toflway, health etc ave part
Q P\)\ohc st%’cov and not of |YaH’J.)P5} Ctov] i P
aﬁ. %ecause these ‘rhmas ?SQ({Vfb’ spending (qwge amount of money.
& ) Privabe sectoy won"t provide 'these thivg at o veasonable (ost I7ke
e govemment does.
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= Objective Section (1 mark each)
Q. 1. Choose the incorrect option from the following : [CBSE OD, Set 1, 2020]
List I List II
(a) Courier (1) Tertiary Sector
(b) Fisherman (2) Primary Sector

Ans.

= Very Short Answer Type Questions

(c) Carpenter
(d) Banker

()

(3) Primary Sector

(4) Tertiary Sector

(1 mark each)

Q. 1. Suggest any one way to create Secondary Sector: It covers those
employment in semi-rural areas. activities in which natural products
[CBSE Delhi, Set 1, 2020] are changed into other forms through

ment in semi-rural areas is given below :

primary activity, e.g. Industries.

(i) By starting cottage industries and Q. 5. Distinguish between ‘Secondary’ and
small processing units. “Tertiary” Sector.
(ii) By providing basic inputs-the gov- Ans. Secondary Sector: It covers those
ernment can increase the productivity. activities in which natural products
Q. 2. How is GDP calculated? are changed into other forms through
[CBSE Delhi, Set 1, 2020] manufacturing, e.g. Industries.
Ans. GDP: The value of final goods and Tertiary Sgctor: It covers those acti_vities
services produced in each sector during that help in the development of primary
a particular year provides the total and ‘secondary sectors, e.g. Transport,
production of the sector for that year. banking, etc.
Q. 3. How is Public sector different from 28 Ya}t‘:gl‘i Zslz)rlfrc(l:lelsceirg\ov(:r(li\sicll)lyc::epglggrn:)%
Private sector? [CBSE Delhi, Set 1, 2020] . i e
economic sector such activities come?
Ans. Public Sector is different from Private [CBSE, 2018]
Secton Ans. When we produce goods by exploiting
In the public sector, government owns natural resources, it comes under the cat-
most of the assets apd prqvides all the egory of ‘Primary sector’.
4 v Pl e Q. 7. Which sector helps in the development
ownership of assets and delivery of "
services is in the hands of private UL G Sesonday, Seehin
e v me . [CBSE, Term 1, 2016]
individuals or companies.
Ans. Tertiary sector helps in the development
Q. 4. Distinguish between ‘Primary’ and of the primary and secondary sector.
‘Secondary’ Sector. "
; Q. 8. Define secondary sector.
. [CBSE Delhi, Set 1, 2019] i [CBSE, Term 1, 2016]
Ans. Primary Sector: It covers those activities Ans. The sector in which people are engaged

that involve production of goods directly
using natural resources, e.g. Agriculture.

in the activities where natural products
are changed into other manufacturing
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Q. 9.

Ans.

&P Short Answer Type Questions-I|
Q. 1

Ans.

Ans.

CBSE-

products with the help of industrial ac-
tivities, is termed as secondary sector.

Suggest any one way to create
employment opportunity in the rural
areas. [CBSE, Term 1, 2015]

Opening of cold storage in rural areas
creates employment opportunity as they

Why is the tertiary sector becoming
more important in India? Explain.

[CBSE OD, Set 1, 2020]

[CBSE Delhi, Set 1, 2019]

The tertiary sector becoming more im-
portant in India because of following rea-
sons :

(i) In any country several services
such as hospitals, educational
institutions, banks, transportation
etc. are considered to be the basic
services for any developing country
for example India.

As income rises, certain sections
of people starts demanding more
services like tourism, shopping,
hospitals, schools etc. This helps in
increasing the GDP of the country.
Over the past decade or so, certain
new services such as those based
on Information and communication
technology have become essential
in India. Thus, the tertiary sector
becomes very important.

(ii)

(iii)

Why is organised sector preferred by the
employees ? Explain.

[CBSE OD, Set 1, 2020]
The organised sector preferred by the
employees because of following reason:

(i) It will provide job security for
all employees and even a certain
amount of money is kept apart from
the salary every year to pay the
lump-sum amount to the employees
after retirement.

(ii) It covers those enterprises or
places of work where the terms
of employment are regular and
therefore, people have assured work.

ECONQOMIGCS;

Q. 10.

Ans.

CONOMICS
SECTORS OF INDIAN ECONOM

can store their products in it.

In which sector does government own
most of the assets and provides the basic
services? [CBSE, Term 1, 2015]

In service sector or public sector or ter-
tiary sector, the government own most of
the assets and provides the basic services.

(3 marks each)

Ans.

(iii) They are registered by the
government and have to follow its
rules and regulations which are
given in various laws such as the
Factories Act, the Minimum Wages
Act, the Payment of Gratuity Act,
Shops and Establishment Act, etc.

“Tertiary sector activities help in
the development of the primary and
secondary sectors.” Evaluate the
statement. [CBSE Delhi, Set 1, 2020]

“Tertiary sector activities help in the de-
velopment of the primary and secondary
sectors”” because of following reasons:

(i) Tertiary  sector activities, by
themselves, donot produce any good
but they are an aid or support for
the primary and secondary sectors
production process. For example,
the transport, trade, storage, etc.
helps the primary, sector industries
like agriculture.

(ii) Tertiary sector comprises of several
essential services such as hospitals,
educational institutions, post and
telegraph services, police stations,
courts, defence, transport, banks,
etc. All these are required as a basic
service that helps the primary and
secondary sectors.

(iii) Over the past decade or so, certain

new services such as those based

on information and communication
technology have become important
and essential.

“Primary sector’ was the most important
sector of economic activity at initial
stages of development.” Evaluate the
statement. [CBSE Delhi, Set 1, 2020]
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Ans.

“Primary sector was the most important
sector of economic activity at initial stag-
es of development”” because of:

(i) The history of developed countries
indicates that in the initial stage of
development, the primary sector
was the most important sector of
economic activities. As the methods
of farming changed and agriculture
sector began to prosper, it started
producing much more food than be-
fore and most people were also em-
ployed in this sector.

Primary sector is still the largest eco-

nomic sector and plays a significant

role in the overall socio-economic
development of the country.

(iii) The well being of the secondary
sector depend on the on the primary
sector. This sector generally takes
the output of primary sector as raw
material to manufacture finished
goods. Flourishing primary sector
help in the development of strong
secondary and tertiary sectors. All
of these sectors are required for the
development of the country.

(ii)

Ans.

EI:IZIN[IMII:S

SECTORSOFINDIAN ECON

How do we count various goods and
services for calculating Gross Domestic
Product (GDP) of a country ? Explain
with example. [CBSE Delhi, Set 1, 2019]

Gross Domestic Product (GDP) is the
market value of the final goods and
services produced during a year within
the domestic territory of a country. While
calculating GDP, final goods and services
are counted to avoid the problem of
double counting.

For e.g. a farmer sold wheat to a flour
mill for ¥ 10 per kg. The mill grinds the
wheat and sold the flour to a biscuit com-
pany for ¥ 12 per kg. The biscuit com-
pany uses the flour, sugar and butter to
make 5 biscuit packets. It sells the biscuit
to the consumer at X 15 per biscuit pack-
et. Here biscuits are the final goods that
are purchased by the consumer. Wheat
and wheat flour are the intermediate
goods used in the production of final
good. The value of ¥ 15 already includes
the value of flour ¥ 12. Hence, only the
value of final goods and services are in-
cluded in GDP.

Q. 6. Distinguish the service conditions of organised sector with that of unorganised sector.

ﬁ Topper's Answers

[CBSE, 2018]
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Ans. Organised sector: These sectors are regis-
tered by the government and have to fol-
low its rules and regulations.

Unorganised sectors: Such sectors cover

El: ONOMICS
SECTORS OF INDIAN ECONOMY

small and scattered units which are out of
government’s control.

Major differences between both such
units are as follows:

Units of Organised Sector

Units of Unorganised Sector

1. In organised sectors workers are covered by
security of employment.

2. Workers are expected to work only for a fixed
numbers of hours, if they work more, then
they get overtime payment by the employer.

3. The factories follow government rules such as
Factories Act, Minimum Wages Act, Payment
of Gratuity Act etc.

These are low paid jobs and often not
regular. Employment is not secured.

There are no provisions of overtime, paid
leave, holidays, leave due to sickness, etc.

They do not follow government rules. When
there is less work, due to season or other
reasons some people may be asked to leave
without salary or payment.

Q. 7. Explain the problem of underemploy-
ment in the service sector in urban areas
with examples. [CBSE, Term 1, 2016]
There is a problem of underemployment
in the service sector or tertiary sector
in urban areas. There are thousands
of casual workers in the service sector
who search for daily employment. For
example: petty workers, painters, street
vendors, rickshaw pullers, etc., who are
underemployed because they do not
have better work opportunities.

Ans.

With the example of sugarcane, explain
the interdependence of all the three
sectors of the economy.

[CBSE, Term 1, 2015]

Our economy is divided into three
sectors.

Ans.

R Long Answer Type Questions

(i) Primary sector—Directly dependent
on nature.

(ii) Secondary sector—Conversion of
natural things into useful products.

(iii) Tertiary sector—Service sector.

Sugarcane is a natural product which we
grow naturally, that makes it the part
of primary sector. When it is converted
into sugar or jaggery, it needs machines
to perform task, like sugar mills that
ultimately makes it a part of secondary
sector and use of transport, banking
service or other service sector to export
sugar to the markets and sugarcane to the
factories becomes a part of tertiary sector.
By this example, we can understand that
most of the time every three sectors work
together to perform various task.

(5 marks each)

Q. 1. Highlight any five reasons for the importance of tertiary sector in India. [CBSE, 2019]
@m Topper's Answers
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Q. 2. Compare the economic activities of the private sector with that of the public sector.

[CBSE OD, Set 1, 2019],
[CBSE OD, Set 3, 2019]
Ans.
S. No. Private Sector Public Sector
1.  Ownership of assets and delivery of The government owns most of the assets and
services is in the hands of the private provides all services.
individuals or companies.
2 Their main motive is to earn profit. Their main motive is public welfare rather than
to earn profit.
3. Private sector collects money for the The government raises money for various
service they provide. activities through taxes.

CBSE-ECONOMICS, ALEDP
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4. Due to the motive of earning profit
it does not invest funds to construct
infrastructures for public utility/facility.

5. Examples: Tata Iron and Steel Company
Ltd. (TISCO), Reliance Industries Ltd.,
etc.

E[: ONOMICS
SECTORS OF INDIAN ECONOMY

Due to motives of public welfare, it invests funds
to construct infrastructures for public utility/
facility, like construction of roads, bridges, etc.

Examples: Railways, post office, police station,
etc.

Ans.

Q. 3. Explain any five differences between organised and unorganised sectors.

[CBSE OD, Set 2, 2019]

Five differences between organised and unorganised sectors are as follows:

Organised Sectors

Unorganised Sectors

(i) Terms of employment are regular and people People have no guarantee of work and can

have assured work.
(ii) They are registered under the government.

(iii) They have to follow certain rules and
regulations stated by the law. E.g. Factories
Act.

(iv) It has formal processes and procedures of
operation.

(v) There is security of employment. E.g. Fixed
working hours, leaves, etc.

For example, A person working 9 am-5 pm
in an office.

be removed at any time.
It is outside the control of the government.

There are rules and regulations, but are not
strictly followed.

There are no formal processes and
procedures of operation.

There is no security of employment.

For example, A person working in a tea stall.

Q. 4. Explain any five features of the Tertiary
sector. [CBSE, Term 1, 2016]

Ans. Tertiary sectors refers to the service sec-

tor. Main features of tertiary sectors are:

(i) The sector involves activities that
help in the development of the
primary and secondary sector.

(ii) The tertiary sector does not pro-
duce any kind of goods but they
aid and support in the production
process.

(iii) Tertiary sector helps to transport
goods, produced in primary or
secondary sector or arrange for
whole sale and retail sale.

(iv) Helps in the storage of goods in
godowns, provide banking service.

(v) Since these activities generate service
other than goods, it is called service
sector. It also includes teachers,
doctors and other professionals who
are not connected with production
of goods.

Q. 5. State any five features each of public
sector and private sector.
[CBSE, Term 1, 2015]

CBSE-ECONOMICS,

Ans. Public sector: It is a service sector,
providing service to the people:
(i) Itis owned by the government.
(ii) Most of the services provided by the
government itself.

(iii) Motive of this public sector is the wel-
fare of the masses and all the activities
are guided by the interest of nation.

(iv) In this sector employees feel free,
secured disciplined and punctual in
their duties.

(v) Government earns money by differ-
ent taxes etc.

For example: Railways, Postal services,

Banking etc.

Private Sector:

(i) Ownership is in the hands of the pri-

vate individuals or private companies.

(ii) Jobs in this sector is to earn more
money.

(iii) Services are provided in the hands
of individuals.

(iv) Jobs in this sector are less secured.

(v) This sector charges high rates for the
use of services.

Examples are: TISCO, Reliance Industries

etc. ——
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